CORRUGATED BEAM GUARDRAIL STANDARD PLAN

INDEX OF SHEETS
SHEET TOPIC
LAYOUT DETAILS
1 General Requirements
2 Guardrail Placement around Fixed Object Hazards EARLIEST BEGINNING
. . FLARED INSTALLATION
3 Grading Requirements TRANSITION BRIDGE OR TRANSITION / FOR GUARDRAIL FLARE TANGENT INSTALLATION
4 Grading Requi ts (continued - ' ' CERTINS ©
rading Requirements (continued) 25' [7.6 m] ‘ OTHER BARRIER ‘ 25' [7.6 m] .
N‘ ] [} [ ] A AAABRER Crrrrrrn A888 8 8 8 8§ g fed L=

;00080 8 8 8 @ a PR

INSTALLATION DETAILS

Standard Run of Corrugated Beam (W-Beam) Guardrail

g Transition Sections - Bridge Rail & Concrete Barrier Connections . L L . _4— L L L
7 Narrow Median Installations - TWO-WAY TRAFFIC ROADWAYS
o o e A oat 2 - SATE Pos s T

10 End Anchorage Type C - Trailing End
11 End Anchorage Type D - For Radius
12 End Anchorage Type F - CAT

13 End Anchorage Type F (con't)

PT. EARLIEST BEGINNING FLARED INSTALLATION
FOR GUARDRAIL FLARE
FABRICATION DETAILS TRALING END GUARDRAIL‘Jl/ of JBRDGEOR | TRANSITION ‘/ y TANGENT INSTALLAT|ON

14 Standard Cable Anchorage Details (WHEN NEEDED) 9| OTHER BARRIER ‘mii ZGRmﬂ N i
st N~ . = = =
-
T T " <€ ONE-WAY TRAFFIC ROADWAYS o
Initjating a straight guardrail flare - Initiate a 15L:1W guardrail flare ////////////////////////////////////////////////////////////////

(typical for high speed roadways) as shown below:

CONNECTIONS TO BRIDGE RAILING AND OTHER TRAFFIC BARRIERS

——

Connect guardrail to another type of traffic barrier with a transition section (see installation

TRAVEL LANE E.T. W. (EDGE OF TRAVELED WAY) > TRATFIC details for transitions). Use transitions on both the upstream and downstream ends of

S ou 7 two-way traffic bridges and the upstream ends only for one-way traffic bridges typically

SH (SHOULDER) / ;2:INITIALOFF/SET found on interstates and freeways. Ensure the transition section is tangent with the
%/_

~ fTANGENT LNE 28 8 TANGENT RAIL roadway where possible.
a= 15 %

|<—6 -3 —>|<—6 -3 ——’476 -3 ——
[1905] [1905] [1905]
LENGTH OF FLARE LT =
=
o

TYPICAL 15L:1W FLARE LAYOUT

[210]

"2

N
- — WYOMING DEPARTMENT Y STANDARD PLAN NUMBER N
LAYOUT DETAILS AND -
e GENERAL REQUIREMENTS :«« A OF CORRUGATED BEAM GUARDRAIL SHEET6 016 1f 16
606-01C & 0
AN Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown L o TRANSPORTATION STANDARD PILLAN )\DI::::; Z’LG\/EMBER,C;;M . S)




NOTES

(1) Shielding Fixed Object Hazards - Extend tangent run
of guardrail a minimum of four standard post spaces 25 ft.
[7.6 m] on each side of the fixed object hazard. For
standard post spacing, locate the back of guardrail posts
a minimum of 3 ft. [915] from the fixed object.

44"t

[1320]

(MIN)
3-0"
[915]

I
. (MIN.)
1V:10H ——\ % Y

SECTION A-A
PROPER GUARDRAIL
PLACEMENT

* The minimum provided deflection distance may be reduced

A\

INCORRECT GUARDRAIL
PLACEMENT

_ END ANCHORAGE TYPE A

EE PR Y R T PP PR PPt by

LENGTH oF
OF MINIMUM LENGTH
END ANC,)\JF?FREAGE TYPEA  FLARE #2 - LENGTH OF TANGENT
® NOTEQ®) NOTE(D

OR ADDITIONAL LENGTH OF

250" 250"

TTTenT S e

TANGENT RUN I TANGENT RUN
M MIN. B2Z2ZZ220  mN. !
I A AT A A A A AT A U U T N U O B I i

e T T T oS s d S E P E S S e e s ssssssosssesssssssssosssersrssmannnnnnanannt 0000000

OR ADDITIONAL LENGTH OF

A -

—
- =

|TYPICAL GUARDRAIL PLACEMENT AROUND A FIXED OBJECT |

FLARE #1 END ANCHORAGE TYPE A
= TE
NOTE® \ uj;i/JFLARED GUARDRAIL INSTALLATION
I
I

END ANCHORAGE

GUARDRAIL
INSTALLATION

by decreasing post spacing and/or adding double nested WO WAY TRAFFIC ROADWAYS
sections of guardrail. Start reduced post spacing, when
required, and double nested guardrail 25 ft. [7.6 m] before D
the hazard and extend 25 ft. [7.6 m] beyond the hazard. ANCHORAGE. MINIMUM LENGTH LENGTH OF ANCHORAGE TYPEA
_ TYPEC_,  OF TANGENT Aﬂ’\_ﬂw/—\
i — - FLARED GUARDRAIL INSTALLATION
* Deflection Post Spacing Rail Elements NOTE @ NOTEQD NOTE®
Distance 25-0"_| _ _ _ _ORADDITIONALLENGTHOF ~  _ _ /ENDANCHORAGE
3 ft. [915] |6’-3” [1905] (Standard) Single Rail A== [7.6 m] TANGENT RUN . TYPE A .
: , o7 MN \ : i
2 ft. [610] 3'-11/2” [952] Single Rail I e rar i T RN U g
1.5 ft. [460] 3-11/2" [952] Double Nested Rail - 1
A < TANGENT (PARALLEL)
) , — —_ —_ —_ — —_ —_ —_ GUARDRAIL
(@ Flared vs. Tangent (Parallel) Installation - Drawing - INSTALLATION
depicts flared guardrail runs with solid lines and tangent S
(parallel) installations in dashed lines.
3 End Anchorage Flares - Where an end anchorage such |TYPICAL GUARDRAIL PLACEMENT AROUND A FIXED OBJECT |
as the Type Arequires a flare, construct terminal flare in ONE WAY TRAFFIC ROADWAYS SUCH AS DIVIDED HIGHWAYS
addition to the guardrail flare (if present).
@ Post Spacing Reduction - Where a tighter post spacing
is required to limit guardrail deflection, add 25 ft. [7.6 m]
downstream tangent guardrail as indicated in asterisk (%)
above. Do not use Type C end anchorages unless shielded
or far outside clear zone.
@slgnedby: WBW | e A M STANDARD PLAN NUMBER
e GUARDRAIL PLACEMENT AROUND FIXED OBJECT HAZARDS TYOMING I())%PARTMENT CORRUGATED BEAM GUARDRAIL 606-1
606-01C étd_)j TRANSPORTATION SHEET 2 of 16
L Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. i R STANDARD PLAN )\[::::s:; Z’L‘ﬂ:ﬁiii‘i;ﬁRv'CEsj




X

GRADING NOTES “ SEENOTEQD) = / CLEAR-ZONE
If necessary, modify the earthwork shown in the plans _ _ _ _ _ _ R . A— —
and as staked to provide these minimum grading T~ S U NOTE®— T S -
requirements at guardrail installations. The engineer | TS Ty T — CLEAR-
will pay for this work using standard grading bid items gEgFEEDED | FRREAVEE ... '. TS j I 4-0"[1.2m] - e c .%5@?@%“,5““”
as provided in the plans. HAZARD B ' ' s — , A R /@E) <t | . SECTIONS)
1015 ' - : O
. . . / ______ . .
@ Ensure the cross-slope of the earthwork in the area B~ 3Mf,z e | M'N_ / I 4(’, 4-0"[1.2m] ——
approaching a guardrail installation, the area around the ~r /{ NS /;— 77 /.7-- re l/ W Af / }"’Z 15
i i i . X L T 5L
é%rr?;'gg' Ofggtttgf area of the guararail flare is a 1V:10H e e
EDGE OF TRAVELED WAY NOTE®) OFFSET ATPOST #3 = Y NOTE(D 4 <
(@  Ensure cross slope of grading from roadway to the barrier - - - — - - - — OR _
face is 1V:10H or flatter. Extend 1V:10H a minimum of EDGE OF SHOULDER END TERMINAL — <

2 ft. [600] behind the guardrail posts. The department
may specify 1V:8H for the guardrail installation where
drainage and/or snow accumulation must be mitigated.

£ A

GUARDRAIL FLARE - END TERMINALS SUCH AS THE SRT (SHOWN HERE) REQUIRE A TERMINAL
FLARE WHICH IS IN ADDITION TO ANY GUARDRAIL FLARE.

® Ensure the areaimmediately behind and beyond the
terminal is traversable and free from fixed object APPROACH END GRADING - FLARED GUARDRAIL INSTALLATION
hazards or at least similar in character to upstream, (APPLIES TO TWO WAY TRAFFIC AND/ONE WAY TRAFFIC ROADWAYS SUCH AS DIVIDED HIGHWAYS)
unshielded slopes located within the clear-zone. Ensure
a slope of 1V:4H or flatter; if not practical, use a o X _
maximum slope of 1V:3H. Extend the traversable slope ‘ SEENOTEQ) CLEAR-ZONE
for a distance X beyond post 3 of the end terminal. /
If not shown in the plans, calculate X from the formula EE!)EF';SED] e
below: HAZARD .-+ . -+ |CZ=CLEAR-ZONE WIDTH
=(CZ-Y)(Lgr)/(C2 S C—4-0"fH.2m)- o (SEETYPICAL
34" [1| 015] i o : - SECTIONS)
DESIGN Lg Runout Length (ft) _B<— MIN) | - > ). - . A oo
SPEED | ADT ADT ADT ADT VDTV l/ /( /Z J/‘ /{ { ,/ Z g -
(mph) | OVER | 290010 | 890w | Ynec" = 7//////////////////// =
80 480 440 400 360 EDGE OF TRAVELED WAY OFFSET AT POST #3 = Y NOTE D < <
70 480 440 400 360 — —_ S — S S S — OR _
O —>
40 ?;18 ?ég 1228 180 = .Y
30 130
APPROACH END GRADING - TANGENT GUARDRAIL INSTALLATION
+ METRIC TABLE + (APPLIES TO TWO WAY TRAFFIC AND ONE WAY TRAFFIC ROADWAYS SUCH AS DIVIDED HIGHWAYS)
DESIGN Lr Runout Length [meters] 3-4"[1015] (MIN.) 344 [1015] (M@')
SPEED ADT ADT ADT ADT SHOULDER o o SHOULDER ‘ ~| SLOPE HAZARD
(km/h) | OVER |2000to | 800to | Under 2.0 [610] 20" 20" [610] 20"
6000 | 6000 | 2000 800 - . 610
20 145 135 120 70 (DESIRABLE MIN.) (E\%S.]) (DESIRABLE MIN.) (E\/IIN.])
110 145 135 120 110 4 OR FLATTER
100 130 120 105 100 ny 4 <~ 1 SEENOTEQ® wion—"_ Ul
90 110 105 0 85
SEE NOTE@&@ \ SEE NOTE®® mm
80 100 0 80 75 D N
70 80 75 65 60 . 1 = B-B
60 70 60 55 50
50 50 50 45 40 RUNOUT GRADING BEHIND GUARDRAIL FILL SLOPE HAZARD PROTECTION
W Designed by WBW /  STANDARD PLAN NUMBER
Damby__GLD WYOMING DEPARTMENT -
e v GRADING REQUIREMENTS A OF CORRUGATED BEAM GUARDRAIL 606-1
606-01C t_j SHEET 3 of 16
L Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. L - TRANSPORTATION STANDARD PLAN )\D'::::Zd Z’:)f/'g;?:}:‘i;iw'c“)




GRADING NOTES

If necessary, modify the earthwork shown in the plans
and as staked to provide these minimum grading

requirements at guardrail installations. The engineer
will pay for this work using standard grading bid items
as provided in the plans.

(1) Ensure the cross-slope of the earthwork in the area
approaching a guardrail installation, the area around the
terminal and the area of the guardrail flare is a 1V:10H
surface or flatter.

(@  Ensure cross slope of grading from roadway to the barrier
face is 1V:10H or flatter. Extend 1V:10H a minimum of
2 ft. [600] behind the guardrail posts. The department
may specify 1V:8H for the guardrail installation where
drainage and/or snow accumulation must be mitigated.

® Ensure the areaimmediately behind and beyond the
terminal is traversable and free from fixed object
hazards or at least similar in character to upstream,
unshielded slopes located within the clear-zone. Ensure
a slope of 1V:4H or flatter; if not practical, use a
maximum slope of 1V:3H. Extend the traversable slope
for a distance X beyond post 3 of the end terminal.

If not shown in the plans, calculate X from the formula
below:

=(CZ-Y)(Lr)/(CI

LgrR L h (ft.
DESIGN r Runout Length (ft.)

SPEED | ADT | ADT | ADT | ADT
(mph) | OVER |2000to | 800to | Under
6000 | 6000 | 2000 | 800
80 480 440 400|360
70 480 440 400 | 360
60 400 360 330 | 300
50 320 290 260 | 240
40 240 220 200 | 180
30 170 160 140 | 130

v METRIC TABLE v
DESIGN L Runout Length [meters]

SPEED ADT ADT ADT ADT
(km/n) || OVER | 2000to | 800to | Under
6000 6000 2000 800
120 145 135 120 110
110 145 135 120 110
100 130 120 105 100
90 110 105 90 85
80 100 90 80 75
70 80 75 65 60
60 70 60 55 50
50 50 50 45 40

CZ = Clear-zone width is the same for each direction of traffic;
find width in the typical sections. Measure clear-zone
distance from the outside edge of the traveled way for
the given direction of traffic and in the direction of the
departure being considered.

X

SEENOTEQ®) "

SHIELDED
SLOPE
HAZARD

CeCz| | "'40"[i'2m]

///////%%////////////////

B 15 M) SN
G
s g [12m]

'17—~// oo

NOTE@Z ' S '2 |

. 3-4"[1015). ., 3-4"[1015
/~-~ I}V_M_m) T r=m B
iy v Ay W A

L

- [ oo
— [TED

OFFSET AT POST #3 = Y

SIS EEEEEaaaEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE——————————————

EDGE OF TRAVELED WAY
FOR OPPOSING TRAFFIC

END TERMINAL

|APPROACH END GRADING FOR OPPOSING TRAFFIC LANES

(APPLIES TO TWO WAY TRAFFIC ROADWAYS)
NOTE: Tangent installation shown, apply same concept for flared installations

NOTE(Q)

3-4" [1015] (MIN.)

SHOULDER

20" / 2-0”
-0 [610]

(DESIRABLE MIN.) (ﬁ,ﬁ])

OR FLATTER

\l 1 SEENOTE(®)

'1&\\‘

WA ——~
SEE NOTED & (@) mm

RUNOUT GRADING BEHIND GUARDRAIL

3-4" [1015] (MIN.)
SHOULDER —~ ™ SLOPE HAZARD
20"
20" [610] 6101
(DESIRABLE MIN.) WIND

V:10H —7
SEENOTEQD) .

FILL SLOPE HAZARD PROTECTION

@s@ned by: WBW
Drawn by: GLD

Checked by: WBW
Previous Dwg. No.

606-01C

GRADING REQUIREMENTS (CONTINUED)

WYOMING DEPARTMENT
OF

Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown.

STANDARD PLAN NUMBER

606-1

CORRUGATED BEAM GUARDRAIL

SHEET 4 of 16

TRANSPORTATION

Issued by: ENGINEERING SERVICES

STANDARD PLLAN

N\

gale Issued: NOVEMBER, 2004 Y,




) " ) " )
- 186 1/2" [4130] 12 GAGE [2.8 THICK] RAIL ELEMENT (26'-1/2" [7940] MAY BE SUBSTITUTED) o LAP SPLICE (SEE DETAIL BELOW) GENERAL NOTES
g 0 2 b9y |
! = m— — (D DO NQT use washers between the head of the guardrail bolt and rail element
i Toll ! (o | To [ 2 unless specifically shown in the plans.
[265%] ' @ Use post dimensions based on timber species in accordance with the material
){ SEE NOTE@) —~| ) ) requirements in the Standard Specifications.
; ; ; @ All wood cross-section dimensions shown are nominal dimensions.
\'<'\\//\>//\M\->//>\>6E3'_6” \<\\/<>/(\\M\///>\<\\ \/ /,\/\/\M///-\\&
CONTINUE E] ,[1065] E] m CONTINUE
STANDARD — ggﬁgﬁ)@*[}
SPACING | 6'-3" [1905] (TYP.) | 6'-3" [1905] (TYP.) |
4‘—/1/ L 3 L 3 T \I\—>>
1 I ! 3/4' [19)@ HOLES
|STANDARD W-BEAM GUARDRAIL | @ 2' [50] C.C. SPACINGS WX 9 x 60"
m TRAFFIC 418 106 — O i [W150 x 13 x 1830]
DIRECTION OF RAIL LAP 8" ¢ OF 5/8°@ x 10" [16 x 250] AN ] o8 [16] HEXNUT
e 858 16 200 SEE NOTE®  SPLICE GUARDRAIL BOLT [200] [230] / AND WASHER
—_ = = © H/Ex [NU]TS W : REFLECTOR TAB e &
r 5/8" [16] HEX NUT . 2 D q
ADJACENT TRAFFIC DIRECTION g 6 9\’\ @ / AND WASHER 3 E ES : (REQUIRED EVERY [180] —
RAIL LAP DETAIL [200] [150] o] 12| &8 ) ) . FOURTH POST) 7"
7 =2 4 (8)- 29/32" x 1 1/8"'— ' 34" x21/2” 180]
= 23 x 30] P ! P [19 x 65] S
SPLICE SLOTS <— ' a@= /i) = GUARDRAL | i
(8)-5/8"0 x 1 1/4” [160 x 32] o)- 160 190 LONG ' ' BOLT SLOT ~
GUARDRAIL SPLICE BOLT N (GLLVANHZED N AIES 9 | ® : SEENOTED :
5/8"@ x 18" [16@ X 460] (TO PREVENT EP ; EP | ROUTED TIMBER BLOCKOUT
GUARDRAIL BOLT ROTATION OF N RAIL ELEMENT
BLOCKOUTS) > A
SEE NOTE @D ~L— 2" [50] 03] | TRAFFIC
LAP RAILS AS SHOWN FOR 812" [210] | STANDARD STEEL POST DETAIL
ADJACENT TRAFFIC DIRECTION 121727 [310]
ADJAGENT ! NOTE: BACK-UP PLATES NOT REQUIRED
TRAFFIC [WOOD POST AND W-BEAM LAP SPLICE DETAIL]
DIRECTION
g ADDITIONAL HOLES TO ADJUST RAIL
SHOULDER HlNGE—\ 8 8 TWO - 16d [90 LONG] TWO _46d [90 LONG] ADDITIONAL HOLES TO 14" HEIGHT FOR FUTURE OVERLAYS g
POINT X | [200] [200] GALVANIZED NAILS GALVANIZED NAIS ADJUST RAIL HEIGHT 1350] g 200]
B ADDITIONAL HOLES TO om[50] FOR FUTURE OVERLAYS -
1 2" [50] , =~ [200] —~ -
25 ¥ - ADJUST RAIL HEIGHT 34 [85] 1 31/4" [85] +‘ — ) /22/8/ A1N ?SE[SONLA?LNSG]
FOR X < 20" [600] USE H1 (TYP — (x| | 3 FORFUTUREOVERLAYS iyl te REFLECTOR T80 W a0 3 (1910 HoLE FoR ‘J*/?/
< 2-0" [600] (TYP)— 2=l 123y bLLd o (REQUIRED EVERY ’ [230) 94 [1910F S
(MEASURE MOUNTING HEIGHT — 2 RERLECTOR TAB L __F FOURTH POST) = = :fp\ 5/8"@ x 18" [16@ x 460] e
FOR X > 20" [600] USE H2 (TYP) — b 918 1190 X400 N e —— \ 0 2 200 360 NI
(MEASURE MOUNTING HEIGHT [150 x 200 X 360] 3/4” [19]@ HOLE FOR W-BEAM TIMBER 1600 % 950 TIMBER POST \L
WITH RESPECT TO GROUND AT ¥W< WASHER UNDER NUT W-BEAM TIMBER 1 ™ 5/8"0 x 18" [160 x 460] BLOCKOUT Eau ARXDRN]L BOLT SEENOTE® R N 6" x8" x 147
THE FRONT FACE OF THE RALL). 6" x 8" x 14" [150 x 200 x 360] BLOCKOUT [29] GUARDRAIL BOLT ROUTED TO FIT WMASHER W6 X9 x6-0" [150 x 200 x 360]
N W-BEAM TIMBER [t W/ WASHER UNDER NUT I — UNDER NUT W50 x 13 x 1830] W-BEAM TIMBER
BLOCKOUT = M=M= GUARDRAIL POST BLOCKOUT
1V:10H T \—REFLECTOR TAB V1o T i N T N
//‘I /=" (REQUIRED EVERY | ,“:\ 1V:10H (.
6'-0" [1830] LONG S| FOURTH POST) Lo "Gy 6-0" Aol
KL NN Aol AL, Me™__Wexoxs0'  |TYPICAL MEDIAN POST DETAIL
SEENOTEQ@) Lo LN TIMBER POST L [W150 x 13 x 1830]
(ROUND) GUARDRAIL POST
[ STANDARD W-BEAM WOOD POST DETAIL| ALTERNATE W-BEAM ROUND WOOD POST DETAIL|  [ALTERNATE W-BEAM STEEL POST DETAIL |
Y Designed by: WBW AV /_ STANDARD PLANNUMBER
Damy__GLD WYOMING DEPARTMENT
i STANDARD RUN OF CORRUGATED BEAM (W-BEAM) GUARDRAIL @% OF CORRUGATED BEAM GUARDRAIL - 606-1f
606-01C 2> 4 HEET 5 of 16
L Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. A S TRANSPORTATION STANDARD PLAN )\DI:::\E:SEZG Z“(‘)GV'EEEE'F:‘?;;RV'CES)




(4)- 7/8"Q x 1 3/4” [220 x 45] H.S.
W/ NUT & (2) HARDENED WASHERS EACH BOLT
/—5/16” [8 THICK] BRIDGE PLATE

" [250]@ WOOD POSTS STANDARD GUARDRAIL POSTS (TYP.)

6" x8"x14”

T 0000 A8 A 6

[150 x 200 x 360]
TIMBER BLOCKOUT

(TYP)

TR E

5 SPACES OF 2-6" [762] = 12'-6" [3810]

6-3" [1905] POST SPACING (TYP.)|

[eo
\__V%jﬂ 4 SPACES OF 18 /4" [476] = |
W-BEAM TERMINAL— == 6-3" [1905]

Y

, 4 4, 103m
st 1,,[;25]]1* noo|poo| [278]
——e
312" [90)
31/2”[90]} /?]ﬁ
®
L / Lp 51167 x 9" x 1-10”

1" [25]@ HOLE (TYP.)

[ 8 x 230 x 560]

/ 3/4” [19] CUTOUT (TYP.)

Note: Lap upstream rail or connector over the
downstream rail or connector so that the
exposed metal edge faces downstream

EACH BOLT (TYP. 4 PLCS.)

POST BOLT (TYP))

/

\'I

!

N

T

:

\(‘ I I
1" [25]0 HOLES IN CONCRET r
BARRIER FOR 3/47@ x 14"

.........................................

'
......

"7 /'

......

r

[190 x 355] H. S. HEAVY HEX

|CONNECTION TO PERMANENT CONCRETE BARRIER (TRANSITION SECTION)|

BOLTS W/ NUT & (2)
HARDENED WASHERS

EACHBOLT (TYP. 4 PLCS ) @ Use transition sections on exit ends of one way traffic bridges

only when specified.

L L_

Notes: (D Install transition section on tangent (parallel) with the road. Do not begin guardrail flares within the transition section.

downstream rail or connector so that the I

exposed metal edge faces downstream
of traffic flow located closest to the rail.

[CONNECTION TO CONCRETE BARRIER]

PERMANENT CONCRETE SHOULDER

OR BRIDGE BARRIER

W-BEAM TERMINAL CONNECTOR

- |

~d

GUARD RAIL
10" [250]@ TIMBER POST

6" x 8" x2'-4” [150 x 200 x 710]
J TIMBER BLOCKOUT

CONNECTOR - TRANSITION SECTION (LENGTH = 25-0' [1620)) ——— -] . BRIDGE PLATE of traffic flow located closest to the rail
END OF <—— GUARDRAIL PAY LIMIT (SEE PLANS FOR LENGTH) —, , -5/8'0 x11/4" [160 x 32]
BRIDGE RAL PLAN VIEW [‘Eﬁé’}f@;ﬁ’;j\ﬂ;ﬁ,o” BRIDGE POST 4 <-I GUARDRAIL SPLICE / A)— 56" [8 THICK]
= RAIL \ | 100 (100] BOLTS (TYP) | 7/8” 2210 H.S. HEAVY BRIDGE PLATE
VARY POST HEIGHT SO GUARDRAIL ) (220 H.S. VPR
BEGIN RECTANGULAR POST BOLT WASHERS . ,
MATCHES END OF BRIDGE =~ —e=—1, | 58" [16]0 GUARDRAIL % e T 17| HEXBOLT W/NUT &(2) >
— e — — — — s POST BOLT (TYP) 31/2" 190] o -t it L HARDENED WASHERS J 7<JvP
: g==nrit—— = = = = - - = " = 31/2” [90] ) @2%\ HH Lok H E(TYP.) (SNUG TIGHT) 5
_”_[H.( = 5 i R 5/8” [16]0 SPLICE /
1-3/4” \—BOLT NOT BOLT
BRIDGE RAIlS=—— [325] REQUIRED VP
R ! ¥ b S b . | 3/16 [5]
S R R M LY A L LS s -~ POST % : -+ DIRECTION OF TRAFFIC
T e N A e SN S A R T } : —
N &
CONNECTION TO STEEL BRIDGE RAILING (TRANSITION SECTION) | ;:~ -
Notes: (D Install transition section on tangent (parallel) with the road. Do not begin guardrail flares within the transition section. (—— -k o
(@ Use transition sections on exit ends of one way traffic bridges only when specified. | CONNECTION TO STEEL BRIDGE R AILING| SECTION A-A
Note: Cut guardrail bolts flush with nuts and eliminate rounded (9) - 10" [250) POSTS & ‘b8 (8) - 5/8"0 x 1 14" [160 x 32]
end section when pedestrian sidewalk or bike path is =~ ==V T BOTTOM RAILFLARE ROUNDED END [1001£100] [150] GUARDRAIL SPLICE BOLT
6" x8"x2-4 [150><200><710] : : ot D S B f (EACH RAIL) 17 [25]
directly behind the guardrail. BLOCKOUTS SHOP BEND SECTION T N N L N G v
12 STANDARD GUARDRAIL [ RN S LR O s > s I
2 1= POSTS (TYP) ol =09 o ;
[ T © O]
L I SO °oo .= 1o
ENDOF 4SPACESOF183/ " 476 -14-1/411 ‘>P D ®
CONCRETE 6'-3" [1905] 5 SPACES OF 2'-6” [762] = 12'-6” [3810] ¢6'-3"[1905] POST SPACING (TYP.)| 1360] = T ] T \
o t '[/—>> ) e
BARRIER i =
, - TRANSITION SECTION (LENGTH = 25™-0™ {6201 - | I R L) 0o =15
1" [25]0 HOLES IN DOUBLE NESTED RAIL gigh |” 575 6] % =
CONCRETE BARRIER FOR |~~——— GUARDRAIL PAY LIMIT (SEE PLANS FOR LENGTH) —}———=» REQUIRED FOR TOP ooe | b St i@ a — DIRECTION OF TRAEEIC
3/4"@ x 12" [190 x 300] W - BEAM TERMINAL PLAN VIEW RAIL FOR THE LENGTH P09y [ornlnn e e nIAEPARRN]
H. 8. HEAVY HEX BOLTS W/NUT CONNECTOR (TYP.) = BEGINRECTANGULAR  OF TRANSITION \\/\\/\\\ SANNS Xb\// S
& () HARDENED WASHERS 5/8"@ x 20" [160 x 505] GUARDRAIL \ POST BOLT WASHERS _| Note: Lap upstream rail or connector over the >, NG

mesigned by: WBW

Y

STANDARD PLAN NUMBER

~

ww TRANSITION SECTIONS - BRIDGE RAIL AND CONCRETE BARRIER CONNECTIONS YOMING BEPARTMENT CORRUGATED BEAM GUARDRAIL 606-1
dedic | — . Cﬁ?) TRANSPORTATION e
L Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. ‘A STANDARD PLAN s e NOVEMBER, 2004 )




(" W-BEAM SHOULDER BARRIER )
END ANCHORAGE TYPE "F” —~ ' ' +—END ANCHORAGE
- = """
[7.6m] END ANCHORAGE : - VARIES —15LIW T
TRANSITION _<—’| W-BEAM SHOULDER BARRIER . TYPE "F” | wmwmmmmmmwm NOTE@
= T I vtk el ok v'
—————— HAZARD —— B I — o oa __,_,.,“ = < [FIXED OBJECT SHIELDING IN MEDIAN]
T — = _ VARIES — = - MEDANBARRER  TYPE'F" . 50-75 _
| -> SEE DETAIL "A” > | [15m-20m] |
[ - NOTE
,,,,,,,, I MEDIAN
= = WIDTH
25 _
' [7.6mT = END ANCHORAGE — == — — — — — —
TRANSITION (REQD ——=——>| CONCRETE OR W-BEAM MEDIAN BARRIER TYPE'F'  50-75 —>
ONLY FOR W-BEAM) NOTE® " | [15m- 20 m] i
[TERMINATION OF CONCRETE OR W-BEAM MEDIAN BARRIER |
- 20L :1W CONC. BARRIER
—_ —_ —_ 15L AW W-BEAM — —_ —_ —_ —_
< NOTECD W-BEAM END ANCHORAGE TYPE "F” |
p— A A A ey e — — — S A A AT AT A I _N II\/IEDIAN all SHOULDER BARRIER ‘
WIDTH ~ -
> o o o o o o o & ] BT B _#F—b
> W-BEAM DETAIL "A”
=7 SHOULDER BARRIER CONNECTION OF END ANCHORAGE TYPE "F” TO
(BRIDGE END PROTECTION WITH FLARED MEDIAN BARRIER| DOUBLE RUN OF W-BEAM SHOULDER BARRIER
NOTES:
o5’ Details are typical for narrow medians - medians less than 60 feet [18 m] measured
’ [7.6m] END ANGHORAGE from edge of traveled way to edge of traveled way. Locate End Anchorages as
gﬁt\&l%lﬂvgﬁi ’\EA)) — = CONCRETE OR W-BEAM MEDIAN BARRIER TN\g’TEE”I;” specified, not necessarily at the ditch bottom.
Ensure grading requirements and requirements for placement of guardrail around fixed
object hazards are met for median installations.
~~ | MEDIAN (@ Grade cross-slopes 50 to 75 feet [15 to 20 m] in approach of, and extending around,
WIDTH median installations 1V:10H or flatter (shown in cross-hatched areas) into the face of
the guardrail and terminal. Smoothly transition slopes into this relatively flat grading
section. When the terminal is located within 3 feet [1 m] laterally from the ditch
bottom or crosses the ditch bottom, grade immediately in front of, and near, the
terminal 1V:20H. Maintain adequate drainage in the median.
(BRIDGE END PROTECTION - NON-FLARED MEDIAN BARRIER|
@ The length for End Anchorage Type F varies depending on whether it transitions to
w-beam or concrete barrier. See Type F installation details for lengths.
Y Designed by: WBW N\ STANDARD PLAN NUMBER
s e NARROW MEDIAN INSTALLATIONS A YOMING DEPARTMENT CORRUGATED BEAM GUARDRAIL 606-1
B 1C t‘j OF SHEET 7 of 16
f f . : ATH : :' 3 TRANSPORTATION Issued by: ENGINEERING SERVICES
L Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. L STANDARD PLAN ' Kosisont NOVENBER 2008 J




e 2
Sepreyi iV HPACTHERD ATTACH IVPACT HEAD
6" x 8" [150 x 200] WOOD CRT POSTS ANGLE TO WOOD POST
(POSTS 3 THRU 7) FLEAT #1 RAIL ELEMENT WITH (2) 3/8” x 3" [10 x 78]
ASSEMBLE END ANCHOR RAIL FLEAT #2 RAIL ELEMENT LAG SCREWS. DRILL 1/4”
ELEMENTS AND BEND TO FLARE STANDARD W-BEAM GROUND LINE STRUT [60] PILOT HOLES IN
RATE (SHOP BEND NOT REQUIRED) GUARDRAIL ELEMENT eV 40" [1220] WOOD POST FIRST
TERE STRAIGHT FLARE (SEENOTE(@)
H - SEENOTE@
' Y eyl e RAIL EXIT ON
TANGENT LINE (BACK i TRAFFIC SIDE
FACE OF GUARDRALL) 81 PLAN VIEW
PLAN ~=z—-— DOWNSTREAM 5/8"0 x 10" [160 x 250] BCT WOOD POST
— DIRECTION GUARDRAIL BOLT WITH CABLE RELEASE (TYP POST #1 & #2)
GUARDRAIL BEGIN WASHER UNDER NUT ONLY |  ASSEMBLY (SEE DETALL) MPACT HEAD
\PAY LIMITS | END ANCHORAGE PAY LIMITS ~ A\ G OF NEED :
6'-3" [1905] 6'-3" [1905] . 6-3'[1908] _,  6-3"[1905] 6'-3" [1905] 6'-3" [1905] WOOD ———
POST - = i
A= n - 2-3 - ———— 1+
/ ) } [690] 3/4 [19] CABLE =
— ET o i L o = ¢ ! W/ 2 NUTS & WASHER .
- N , (EACH END) = ,
GROUND LINE i i \ , 2" [50] — ) 3" [78]
. Kk o " STANDARD " A " sTaNDARD | | 27 ! ' 2 romp s~ /1
X X £o CUARDRAL &+ = PLNOT™ L GuARDRAL T —CABLE g \ P
X X T SPLICE il r. ATTACHED =1 &5/ (o | 1| ANCHOR EOxiest”, == 5/8” x 10" [16 x 250] A307 - POST SLEEVE &
[ [ 1 1 1 AT POST #3 1 | P! ASSEMBLY " | : BOLT, NUT & 2 WASHERS : | BEARING PLATE
i i 1 i 1 i /' = o (EACH FOUNDATION TUBE) Lo (SEE DETAIL)
L L L L L L 11| xGREOUNDLINE= | L 158" X7 12" [16 X 180] HEX o
STANDARD ‘4| STRUT = PP X X !
GUARDRAIL A4 4101 1 HEADBOLT, NUT &2WASHERS | !
POST POST 6 POST 5 POST 4 POST 3 posT. 2 POST 1 (1475] | WCH TUBE) o
1 TS8" X 6” x 3/16” X 6'-0” /A
ELEVATION -\ 1S203x 152x 4.8x 1830]  —/\-
o FOUNDATION TUBES — 6" [150]
END ANCHORAGE TYPE A - (ALTERNATE 1 - FLEAT 350 x) PLAN & ELEVATION VIEW * PROPRIETARY DETAILS Lo Lo
POST 2 ELEVATION POST 1
— QUICK RELEASE BOLT
NOTES F150 % 200 % 9601 o g CABLE RELEASE BRACKET
TIMBER [200] [200] 7 / \_\ AN
D Alternate #1 - FLEAT 350 End Terminal may be BLOCKOUT il ﬂ1 8] ?553 B x58" . =
i i ifi DO NOT ATTACH
provided when End Anchorage Type A is specified. DO NOT ATTACH T i T ] \/\ / 200 x200x16) %
. o POST #3 ONLY FZ7=F35 , S s—
@ Flare the FLEAT End Terminal on a straight line 28" glP[E%]L"EDE'VBECT_\ ? / (DD A 4 W-BEAM RALL
from the tangent line of the adjacent guardrail run to [ 5" 1910 HoLE —————7 [715] — TYPEACHEND CABLE RELEASE ASSEMBLY | 12 *1 1 1353~
provide a 4 foot [1.2 m] offset to the rear face of the FOR5/8"@ x 18” : 5 [125] ATTACHMENT 1/2" [13] STRUCTURAL
rail at the impact head. The offset can be reduced | [16@ x 460] GUARDRAIL | 6-0" NUTS
to 2 1/2 feet [760] in special conditions. This applies | BOLTW/WASHER  — & | ~ [1830] ) | (BACK SIDE OF RAL) SPECIAL &
only to this end anchorage alternate and will | UNDERNUTONLY — %% O ¥ ———— 2 175 SHOULDER
only be done when specifically called for in the 1V:10H OR 18 | Op [79]
plans. ot s - _j LI 11/16" 0.D. x 916" 1D
" I Ve " D.x D.
| | | 312" [90]0 HOLE (TYP) - oy SFOUND I ! ) [1 35] L1800 ko
(@ Delineate the entire end plate of the impact head 6" x8" x6-0" Pt STRUT \/\ STRUCTURAL WASHERS
with reflective diagonal sheeting with alternating [150 x 200 18m N L ON BOTH SIDES OF RAL
diagonal black and yellow stripes. CRTTMBERPOST 7 | Y =
BEARING PLATE DETAIL
| POST3-6 | | CABLE RELEASE ASSEMBLY |
Y Designed by WBW STANDARD PLAN NUMBER
Damsy__GLD WYOMING DEPARTMENT -
R END ANCHORAGE TYPE A ALTERNATE #1 -FLEAT 350 OF CORRUGATED BEAM GUARDRAIL 606-1
revious Dwg. No.
606-01C SHEET 8 of 16
L Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. L TRANSPORTATION STANDARD PLAN J T




alternating diagonal black and yellow stripes.

e N
ATTACH ROUNDED END SECTION TO W-BEAM CONNECTOR TERMINAL AND TO
BCT TIMBER POST IN STEEL FOUNDATION TUBE RAIL ELEMENT W/ (4) 5/8'@ x 1 1/4” [160 x 32] GUARDRAIL BOLTS W/ NUTS
BEGIN STANDARD X 8" x 60" [150 x 200 x 1830] GROUND STRUT
UARDRAL POSTS CRT TIMBER POST | N
I\ % | ANCHOR PLATE—/ \—SLOT GUARD
< = = oz 5= ot PLAN VIEW
| —.Q L. 2o &= ©.5
oS ~ g 5 © = o3 PROJECT TANGENT LINE FROM THE FACE OF THE LAST ATTACH RAIL TO POST
GUARDRAIL S < S = ~—\——BEGIN | TWO POST BLOCKS IN THE STANDARD GUARDRAIL SECTION. NO WASHER UNDER HEAD Cv%‘}é?%w%ﬁﬁ%“éENszEO "ot
. PAY LIMIT  END ANCHORAGE PAY LIMITS LENGTH OF NEED! _ END ANCHORAGE PAY LIMITS OF BOLT GUARDR Ale BO[LT W)/(REC]T POST
v \ ) '1’ O” .
37'-6" [11 430] PARABOLIC FLARE (NO WASHERS UNDER HEAD OF POST BOLTS - EXCEPT POST #1) [300] BOLT WASHER UNDER HEAD &
- - FLAT WASHER UNDER NUT
6 SPAGES @ 4.2 [1270] = 250" [7620 12-6" [3810] SLOTTED RAIL 12-6” [3810] SLOTTED RAIL —~
- = - = L —
: _ _ - - [1905] —>|<—6 -3" [1905] ——— g T T‘ \, S Y e
[269%]‘ LY nORE \\f‘_ S === II l” e | 34" [19](.CABLE ——= SN
690 SLOTTED
< %_% SLOTGUARD (TYP) | \ \ ‘ éLTfCH [950) 2" [50] l W/2 NUTS & WASHERS (EACH END) 3" BEARING
F— | L
srovrone - | X X 1 seepaL | Lgmm N [T Rhosr s BOT TIVIBER POSTS &> 78] PLATE
Il ATFACH Il Il Il Il Il Il L ST SR < 7 (SEE DETAIL)
Ll RAL 1 | | | TOPOST 1| I FABRICATION | | | T FABRICATION 1! W O £ GROUND STRUT A% /: g
LI TOPOST L! LI LI (POST1-6) LI DETALS LI LI I DETAILS I 5/8"@ x 10" [160 x 250] A307 o PLATE WASHER
STANDARD POST POST 8 POST 7 POST 6 POST 5 POST 4 POST 3 oy Ll BOLT, NUT & 2 WASHERS Eod 2" [50] 1D, BCT
END ANCHORAGE TYPE A - ALTERNATE #2 - SRT/8-POST - PROPRIETARY DETAILS "¢ TSt . [EACH FOUNDATION U85 POST SLEEVE
= = = = e LM (2)5/8"0 x 7 1/2” [160 x 190] A307
- - BOLTS WITH NUT & 2 WASHERS
6" x8" x 14" Y b g x4 8" 8 712 NI ACTUALDIM) 1 [1320] PER BOLT (EACH FOUNDATION TUBE)
0% 2 [200] [200] 6" x8"x 14 [200] [200] POST #2 - NO WASHER UNDER BOLT HEAD 3/4” [19]0 HOLE FOR 5/8"0 x 18 16" x 2-0" x 14" [460x610x6] /| |
[150 x 200 x 355] |_7” [180] [150 x 200 x 355] |—7” [180]  POST #1 - RECTANGULAR WASHER UNDER (16 x 460] GUARDRAIL BOLT i STEEL SOIL BEARING PLATE R I 6" 1150
TIMBER BLOCKOUT TIMBER BLOCKOUT BOLT HEAD W/ WASHER UNDER NUT ONLY : L [150]
; (EACH FOUNDATION TUBE) Do
DO NOT ATTACH , iy - : :
RAIL TO POST —) — = = = = === 34" x 0157 [19 x 0.38] TYPE 1 REGELAR Z §7 [180] : TS8 X 6 316" x 4'-6” 5
DUTY STEEL STRAP PLACED 4 [25]BELOW = = : 15203 x 152 x 4.8 x 1370]—
. , 28" _ p— | | | /" FOUNDATIONTUBES = 7
34" (1910 HOLE 314" {910 HOLE A POST BOLT HOLE (POST 1,82 TYR) ” - FOUNDATION TUBES oo
FOR5/8"@ x 18" ! FOR5/8"@ x 18" ! SEE SLOTFEDBEARING 28" [710] ELEVATION VIEW
[160 x 460] GUARDRAIL | [160 x 460] GUARDRALL | l oo PLATE DETAN
BOLT W/2 WASHERS ! BOLT W/2 WASHERS ! N ROST¥1 ONLY
\/\\/\\/\ ~ O / W/\\ < A [1 830] ( ) . 3'-9" [1 145] | END ANCHORAGE ASSEMBLY |
’\’/\\f\;\\f/ 1V:10H OR 22457 - X A ) 1V:10H ORW N
< FLATTER & S [135] FLATTER SN 17125]
el . 31/2" [90)@ HOLE (TYP.) §1/2" x71/2" x 3-9" [140 x 190 x 1145] —
6" x8"x6'-0 O : 6" x8" x6-0 \\Q ] (ACTUAL DIMENSIONS) BCT TIMBER POST . 378 g
[150 x 200 x 1830] | R [150 x 200 x 1830] AN 234 [08]
CRT TIMBER POST r\ FLATTER CRT TIMBER POST \ \ TS8x6x 3/16" x 4-6" ] [70] o O O et
[TS203 x 162 X 4.8 X 1370] g )
POST7 &8 |POST 3,4,5.,6 | FOUNDATION TUBES POST1&2 o 50) 38
Notes: 8" x 4" x 3/8" [76 x 100 x 10] 2: Eicli’\l[ga ESNG] NAILS S & S |, v ETHK 1 %1“
(1) Alternate #2 - SRT/8 Post may be provided when End Anchorage /ATE WASHER ( TP \f ‘ 2" [50] .. BCT N T 149
Type A is specified. SLOTTED BEARING POST SLEEVE
PLATE \ - — § §
. . . . [ 5/8"0x 11/2
(2) Components and installation details may not be interchangeable ! o o o [160 x 38]
with older versions of the SRT. GROUNDLINE ! 3 MACHINE BOLTS
mﬁ I — ] ) 211272 1/2" , W/ WASHER UNDER
. . . . . [79] L 1 3/4" - ~=—13/4
(@ Install this version of the SRT with a parabolic (not straight) flare NN i Eal N [45] [63] [63] [45] HEAD (TYP.)
as shown herein. A /\/ . GROUND NV ~— 8 1/2" [216] —=
STRUT
@ Delineate the rounded end section with reflective sheeting with SLOTGUARD
SLOTTED BEARING PLATE DETAIL (4 REQ'D PER ANCHORAGE)

Designed by: WBW

EeraT END ANCHORAGE TYPE A ALTERNATE #2 - SRT/8-POST T RV YOMING ]())EPARTMENT
S (8% TRANSPORTATION

.

Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown.

CORRUGATED BEAM GUARDRAIL

STANDARD PILLAN

STANDARD PLAN NUMBER

606-1

SHEET 9 of 16

Issued by: ENGINEERING SERVICES

2z

\Dzte Issued: NOVEMBER, 2004 J




5/8"@ x 18” [16@ x 460] GUARDRAIL

Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown.

BOLT W/ WASHER UNDER NUT
ROUNDED END SECTION
= E | Le o o ol [c o
| ANCHOR PLATE Z KTTAGH ROUNDED END SECTION TO
PLAN VIEW RAIL ELEMENT W/ (4) 5/8"@ x 1 1/4”
[160 x 32] GUARDRAIL BOLTS W/ NUTS
GUARDRAIL
\—CAY LIMIT_, END ANCHORAGE PAY LIMIT . ATTACH RAIL ELEMENTTO BOST W/ 58" X 10”
‘ STANDARD GUARDRAL 12'-6" [3810] ‘ [160 X 250] GUARDRAI™B6BLT W/ RECT. POST BOLT
WASHER UNDER\HEAD & FLAT WASHER UNDER NUT
| | F}/i POSTS AND BLOCKOUTS_\F= .
? + E°|®|° . [Bw = & A
I Pl 1T TEEE IS S 152
2-3 | e e Ss Co—fo\ 3" x4" x 38" [75 x 100 x 10]
[690] 3/4" [19] CABLE /&F o T SEQEI\%) PLATE WASHER /\/ \/\
BCT TIMBER POST _ 7
V =, oL . 16d [90 LONG] NAILS
RSO N2 Ss SNy A ] ( ) LINCHED (TYP.
; Vo CLINCHED (TYP.) ,
' P SLOTTED BEARING ,— 2" [50] |.D. BCT
PLATE WASHER SLATE \ POST SLEEVE
sl RS Lok o |
3-8 : POST SLEEVE i
1120 i GROUNDLINE @ L e —
[1120] :
(2)5/8"@ x 7 1/2" [160 x 1904A307 —/ 4 wff ) y175) aOp
BOLTS WITH NUT &2 WASHERS : N . v . < <7
PER BOLT g D I %
1-6" x 280" x 1/4” P S [ | ’
.............. 40X BAONGISTEEL | i GROUND [ |
SQIL BEARING PLATE ™ == 67[150] /\/ STRUT \/\
188 6% 316" x 50— | | SLOTTED BEARING PLATE DETAIL
ELEVATION VIEW [TS203 x 150 x 4.8 x 1525]
FOUNBATION TUBE
|[END ANCHORAGE TYPE C|
¥ Designed by, WBW STANDARD PLAN NUMBER
Doy __GLD YOMING DEPARTMENT
= END ANCHORAGE TYPE C - TRAILING END @Y YOMING OF CORRUGATED BEAM GUARDRAIL 606-1
606-01C o _1 SHEET 10 of 16
L BAPORATON TRANSPORTATION Issued by: ENGINEERING SERVICES

STANDARD PILLAN

_J\Date Issued: NOVEMBER, 2004 )




\.

( GENERAL NOTES - SEE ANCHOR W-BEAM TERMINAL )
1. Application: When necessary, use the 3. Grade terrain to 1V:10H or flatter in front THEIZEASN H__ E‘gl/i o )2( éﬁ XX210€] x8 Egg IMBER DETA”‘TWO - NS%NNECTOR BCT TIMBER
short radius transition to shield hazards of rail and for 2 ft. [610] beyond posts, NI GALVANIZED STRUCTURAL AND WASHER END POST
at the intersection of two roadways. then 1V:2H or flatter ' STEEL TUBE 10" [250]0 SCHEDULE 40
Typical applications include, butnot 4, Do not bolt the rail to the CRT post I I " GALV. STEEL PIPE,
limited to, the following: at the center of the curve for the 17 [25] NUT N TACK WELD 2 1/2° x 2 12" x /4" <|> r = 1 13" [330] LONG
- Canal service roads at bridge ends. 8-6"[2.6 m], 17 [6.2 m] and 25'-6" o [64 x 64 x 6.4] STEEL PLATE WITH 5/8"@ x 1 1/2" [16@ x 40] HEX HEAD BOLT ATTACH BUFFER END SECTION TO W-BEAM
- Interruptions in guardrail runs by [7.8 m] radii. 170 x 4" [25@ x 100] 11/16” [17]@ HOLE TO STEEL AND NUT WITH RECTANGULAR WASHER TERMINAL CONNECTOR AND TO GUARDRAIL
intersecting roadways, etc. . . o STUD THREAD FULL LENGTH TUBE UNDER BOTH HEAD AND NUT ELEMENT W/ (4) 5/8"Q x 1 1/4” [160 x 32]
5. Tighten outside nut against inside nut PLAN VIEW GUARDRAIL BOLTS W/NUTS
2. Only use the low Speed end anChQrage with the cable installed taut between ATTACH W-BEAM TO PIPE WITH 5/8"0 x 2" (EACH CONNECTION)
on driveways and low speed service the anchor plate and first post. ANCHOR DETAIL [160 x 50] GUARDRAIL BOLT AND RECESS 3/8” x 4” x 12 [10 x 100 x 300]
roads. Whenever an approved 6. Shop bend all curved guardrail. NUT WITH NO WASHER (NO CONNECTION TO POST) STEEL PLATE WELDED TO
crash-tested end treatment is required, 1'-0 10" [250]@ PIPE
. [300] BUFFER END SECTION
use an End Anchorage Type A NO W/—\SHER—\ ! ANCHOR PLATE
| — yd
{ ﬁ + N 41/2”[115]TYPW
(@] =
d = L Soo e
?E g _ [26’—9%]' | | AN ) - | l\‘
T+ 2= g&( | | SHORT RADIUS TRANSITION - END ANCHORAGE TYPE D 2" [50] SIX 3/4" [19] CABLE CLIPS, 3" [75]
SE, fu | Y |- TIGHTEN NUTS ON U-BOLTS Al
0 oy
= % % © g % 00" [ 61 OI] SOSA * NS NN ]
= (@)
=1 % e NN APPLICATION TABLE 3/4"Q x 9'-0" [190 x 2745] CABLE PLATE WASHER &
>| o —
AR g/_/ NS ous] anale | NO.CRT | AREAFREE OF CURVED HAL WITH ONE SWAGED END EL EhD ANOHORAGE.
A2 T MAINTAIN AREA BEHIND GUARDRAIL 4 POSTS FIXED OBJECTS FORANGLE 5/8 "0 x 10" [160 x 250] A307 (TYPE A FOR DETALS)
<§( é % TO BE FREE OF FIXED OBJECTS /i 8'-6" L W 75° 90° 105° 410" BOLT, NUT &2 WASHERS 5" 15011.D. BCT
| gl 2| 1V:2H MAX. SLOPE PERMITTED. " pem | 75-105 5 5 Tem 5 hon T BRI LT 5 o 1475] (EACH FOUNDATION TUBE) PO[ST ]SLEEVE
2 3| 25 (SEIE APPLICATION TABLE). g T - = . , ’ , i
z| o 2 | /- o2 27 31 BOLTS WITH NUT & 2 WASHERS PER
= @ & . Bam (o0 | 7 im | @em |62k PB2m | [©04m] BOLT (EACH FOUNDATION TUBE)
3| 2 B | W /-,zl g |58 ; 0 0 - 10 a7 16X 1/4"x 2-0" [4B0x 6 X 610]—/ _: © & [150]
< (SEE APPLICATION TABLE) 86-95° STEEL SOIL BEARING PLATE P
g d [78 m] 960_'1 050 9 [1 22 m] [61 m] [101 m] [1 22 m] [1 43 m] _; ....... (EACH FOUNDATION TUBE—)/
S 585 3 POST@ \—TS8x6x 316" x5-0" POST(@
T y A ) ) ) ) )
= 360" |geges 5 50 20 46 55 64 [TS203 x 150 x 4.8 x 1525]
4 [10.7 m] —es—mat— [15.2@ 1% &1 m] | (140m] | [16.8m] | [19.5m] FOUNDATION TUBES
ELEVATION VIEW
?’ | END ANCHORAGE TYPE D LOW SPEED TERMINAL |
/ 8” [200] ) )
/ (SSLEOEPSOB'IBEEQ)K LINE —7" [180] 6" [150] 580 x 10”
G g QY | ]
. - — — = A~ =
Lo ENBANKMENT 7P = BOLT
__onET (NO WASHER)
_--Z=- 15° (MAX) SLOPE ) @ o1
577 A : ﬁD 34" [19)0 HOLE
: : FOR 5/8” [16] BOLT [539] 1.
=~ __ s [1830] -
\\\215(MAX.) X (CD NS /,//<]__I>\§\\\
[7620] FOR 86" [2.6 m] RADIUS (SEE TABLE FOR OTHER RADII) 12-6" [3810] END ANCHORAGE S 2t \>§/j l\//
SHORT RADIUS TRANSITION (SEENOTE2) ag/fE 19010 [405] Lo
GUARDRAIL PAY LIMIT END ANCHORAGE PAY LIMITS " x8” X 6-0" NO- r_
[150 x 200 x 1830] \ POST @ N
CRT TIMBER 1 ool D AN
~_ APPROACH ROADWAY OR DRIVEWAY | POST L)
¥ Designed by: WBW STANDARD PLAN NUMBER
Dby GLD YOMING DEPARTMENT
END ANGHORAGE TYPE D - FOR RADIUS @, YOMING DY CORRUGATED BEAM GUARDRAIL 606-1
revious Dwg. No. IS
606-01C t_) SHEET 11 of 16
Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. L T TRANSPORTATION STANDARD PLAN e SERV'CES)

_J\Date Issied. NOVEMBER, 2004




. RAIL LAP (SPECIAL) v A

BEGIN LENGTH —_ 5 11610 [ SPLICE BOLTS REQ'D
SPACER CHANNEL W HOLE SLOTTED RAIL RAIL LAP OF NEED Etg\TATEENDT F(%%LG o gﬁtTEEcng oF I FOR TELESCOPING ACTION
FOR CABLE ASS'Y FACING ELEMENT (12 GA 7 1/2” [13] POST PLATE %
GROUND STRUT FoRcak 7 27 THICK( ) (SPECIAU\ / (BOT[H S]IDES) [3.5 THICK] / THE RAIL LAPS et [25] UNTHREADED
.' E ] == | — 1 3/4" [45]
o8 DX T4 = | |™%-3" 1012 RoD ff/ | |38 noggron (T3] T SPLICE BOLT
gSgRXDSR%L T (SEE DETAIL) (SEE DETAIL)
BOLTS &NUTS [ =a=s] + =1 3/8” [10] ROD W /4 NUTS
3/4" [19] CABLE ASS'Y x 6" [200 x 150] STEEL TUBE \ 4) PLATE WASHERS (TYP) gT éE6L T%%OEX 150] Y & 2 LOCK WASHERS
IMI R TANDARD

NOSE & SIDE PLATE END ANCHORAGE PAY LIMIT \ STANDARD RALLAP (S ) Y )

Y
A

!
A
Y
A
\

ol
10 GAGE [3.5 THICK] B C-A-T 31'-3" [952 5] _|_ TAILEND 1 f
6'-3" [1905] , 6'-3" [1905] | 6'-3" [1905] 6'-3" [1905) | 6'-3" [1905] o < 3/8" [10]@ HEX NUT >
(TYP)

5/8"Q x 1 1/2" [160 x 38] LOCKWASHER
A307 BOLTS & NUTS
; = = = =% RESTRAINT ROD DETAIL
S . — : = T log
i ¢ Lt T SooooooocoocoomsooocoooooooocoocS B SSESESS e i e e e e = | 38" [10] PLATE WASHER
SLOTTED BEARING f=—5"[125] 5" [125} [690] 1ol ’
PLATE (SEE DETAIL) £ || || 316"0 x 2"
— = o o - fol o] . SLOTTED BEARING 50 x 50 PIPE INSERTED
HE XY X H H LA H < RN X
Lo KK » KA R \ ‘ . IN POST
1/4" [6] STEEL SOIL : (TYP) 1
BEARING PLATE (TYP.) {

GROUNDLINE7 A —53 75
\

]
N

\—T88x6x3/16” x5-0" i N 2 1 _||"§'__ 1
0 [TS203x150x 4.8x1525] i P P y P NS W GROUND
i FOUNDATION TUBE (TYP) - e e e e | A, || I A, | sTRUT
POST 1 POST 2 POST 3 POST 4 POST 5 POST 6
END ANCHORAGE TYPE F - CAT - PROPRIETARY DETAILS SLOTTED BEARING PLATE DETAIL
6" x8" X1 6" x8" x 14”
3" x8"x14" 5/8"@ x 25" [160 x 635] 6" x 8" x14" " x 814 [15OX200XX 360] [150 x 200 x 360]
[75x200x 360] / GUARDRAIL BOLT & NUT W/ \ \ [150 x 200 x 360] [150 x 200¢/360] o TIMBER 8" x 6" [200 x 150] TUBE- TIMBER
TIMBER 2 RECT. WASHERS TIMBER TIMBER 5/8"@ x 8" [16@ x 200] A307 —~_\ BLOCKOUTS ATTACHBY (2) 3/8"@ x 2" BLOCKOUTS
BLOCKOUTS 5/8"0 x 25" [160 x 635] BLOCKOUTS 58°0x 1 1/4" BLQEKQUTS BOLT & NUT FOR PLATES \ [100 x 50] LAG SCREWS &
SLEEVE By ) 1 GUARDRAIL POST BOLT & [160 x 32] WASHERS LOCATED 47 [100]
BnlE N NUT W/ 2 RECT. WASHERS 1 GUARDRAIL L ) . - = ==pC DOWN FROM TOP OF WOOD =\*<‘ ==== , ,
==5=== (CUT OFF EXCESS & PEEN == BOLT & NUT (TYP.) 5/8"@ x 24" [16@ x 610] POST :l 5/8"@ x 24" [16@ x 610]
THDS) ’ E=5==F= A307 BOLT &NUT === 5/8"0 x 1 3/4" b==g==F= A307 BOLT & NUT
PIPE INSERTED W/ WASHER [160 x 45] SPLICE BOLT W/ WASHER
~ IN POST & NUT W/ 2 PLATE WASHERS
Fo oo oot N ™\ BCTTiMBER POST TYP) T BoT TvBER POST
1OF ©) BCT TIMBER POST ©) ©) BT TIVBER POST O
AW N NP T T S NN ‘1 P SN NN ‘1 P NANAY R4 ‘l P RIS
5/8"0 x 10" [16@ x 250] L L L L
| | |AS07BOLT &NUT W/2 WASHERS | | | .
" (TYP) /L— d - — o— o
! ! x(g) 5/8"'Q x 71/ n_____ | | | | | | | |
|| ASOygngTégg]NUT - - - .
N (EACH FOUNDATION TUBE) || || | | ||
1-6" x 1/4” x 2'-0" \ (TYP. /
[460 XX6 >/( 61X0] | | TS8 x 6 x 3/16" x 5'-0” | | | | | | | |
STEEL SOIL [TS203 x 150 x 4.8 x 1525] || || || | | ALL POST DETAILS ARE SHOWN AS IF LOOKING
BEARING PLATE | FOUNDATION TUBE | o o . | FROM THE NOSE TOWARDS THE TAIL END.
(TYP)
POST 1 POST 2 POST3 &5 POST 4 POST 6
¥ Designed by WBW STANDARD PLAN NUMBER
D GLD WYOMING DEPARTMENT NOTE: -
E END ANCHORAGE TYPE F - CAT oF CORRUGATED BEAM GUARDRAIL 606-1
606-01C t 1" TRANSPORTATION SHEET 12 of 16
i . . . . - . .d}ﬂIJ IQA ssued by: Gl G S CES
L Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. L STANDARD PLAN )\;ate ot Z“:)V'ESIEE'; e >,




3/8”@ x 3" [100 x

W8 x 10 [W200 x 15]

(8)5/8"0 x 1 1/4” [160 x 32]
GUARDRAIL SPLICE BOLTS &
NUTS (TYP.)

s N\
RAIL LAP (SPECIAL) BACK-UP SINGLE STANDARD RAIL LAP (STANDARD) (2) - NESTED STANDARD TRAFFIC
(% SAFETY SHAPE —_— PLATE (TY\ Vvv BEAM RAIL ELEMENT W-BEAM RAIL ELEMENTS
V111747 I““—”l I
SINGLE " [150]@ SCHEDULE 40 RUB RAIL —— ALIGNMENT FOR
RAIL | 128] / SPACER TUBE (TYP) S & Wex 9\ W8 x 10 - & SINGLE SLOPE
ELEMENT DOUBLE NESTED RAL (TYP. CJ | [W150 x 13] [W200 x 15] BARRIER CONNECTION
TYP) = NESTI (TYP) (TYP) (TYP N
' 5/8"0 x 2" [16 x 50] GUARDRAIL BOLT & NUT ___ : N ———] \C
{g~ — - VRECTANGULAR WASHER (TYP) — 1 ' \ " SPACER TUBE W-BEAM TERMINAL CONNECTOR
] RAIL LAP (STANDARD SINGLE STANDARD RAIL LAP (STANDAR (2)- NESTED STANDARD TAPERED WOOD BLOCK
I > S oXBRIOOXIAMR) e ( ) W-BEAM RAIL ELEMENT (STANDARD) " \\/-BEAM RAIL ELEMENTS
WOOD BLOCK g |153] C SINGLE SLOPE AT 313" 19505 € C-A-TPOST 6 ~/\END ANCHORAGE PAY LIMIT (4) 7/8" [22)0 A325 HIGH STRENGTH
(TYP.) | e 47 [100] -A-T81-8719825] | 26'-8 3/4" [8145] C-A-T TRANSITION TO CONCRETE SAFETY SHAPE _ HEAVY HEX BOLTS W/HARDENED
, . - —~ Py ——— e ” T - WASHERS & NUTS, x 11" [280] LONG
LT;OLI ] - 4 SPACES @ 3-11/2" [952] = 12'-6” [3810] _, BSPACES@1-634"[476] = 7-0 34" [2380]  _ ” 65 [1955] _ FOR SAFETY SHAPE BARRIER. x 19"
300] 508”0 x 2" [160 x 50] GUARDRAIL (8)5/8"0 x 1 1/4" [160 x 32] [480] LONG FOR SINGLE SLOPE
75 LAG BOLT POST BOLT & NUT W/RECT. POST GUARDRAIL SPLICE BOLTS 7 BARRIER
|

&NUTS

3 [75]—>i -

POST 7

POST 8 #0Shg

POST10 posT 11 POST12 POST13 POST 14

BOLT WASHER UNDER HEAD
SECTION "A-A 40" : = = /\ = \, = = = S——— —7 4/ WBEAI{/ITERMINALCONNECTOR
32" [815] HIGH SAFETY SHAPE [1070] Pooiool [ == LK A N : . # POSTBOLT WASHER[S _ - W
q S R = 7 o > — AT L
10 1/4 [690] ] ™ ™ \_ T i =i = = =S I = =
BACK-UP / BACK-UP | - E | it Ié?él / HE
| L PLATE PLATE AN [ T T] T] T{’ﬂ | A
C L L M. L L HTA || CBx82 (358" x 6" [160 x 150]
Za X 1-0" | . | RUBRAL [16 [C150 X 12] EXPANSION ANCHORS
" [300] = « P P P - 4-0" [1220]
ALTERNATE SECTION "A-A" - i[460] 6.9 34" [2075] “
42" [1070] HIGH SINGLE SLOPE BARRIER : CONCRETE BARRIER PAY LIMIT ' A
¢ POST
SINGLE SLOPE BARRIER ¢ | NOTE: LATERALLY OFFSET END ANCHORAGE TYPE F (INCLUDING

TRANSITION) 1/2” [13] FROM THE CENTER OF THE STANDARD
SAFETY SHAPE BARRIER AND 3" [75] FROM THE CENTER OF THE

BLOCKOUTS l—1/2" [13] OFFSET TO ¢ OF POST6  NOBOLTED CONNECTION FOR STANDARD SINGLE SLOPE BARRIER AS SHOWN ON THE POST
_Tl SAFETY SHAPE BARRIER GUARDRAIL @ POSTS 9, 11, 12, 13 TRANSITION TO CONCRETE MEDIAN BARRIER DETAILS ON THIS SHEET.
5/8"0) x 2" [16Q x 50] ]
GUARDRAIL BOLT & | POST 10, 12 & 14 RALL LAP (SPECIAL) SINGLESTANDATD ?iA'L LAP (STANDARD) TRAFFIC
NUT TYP. @ POST 10 | | — oo X
AND 14 ONLY A i RUB RAIL =eeo 0] : : ICHNCY SN ¢ POSTS
oy o || I
5/8”@ x 2" [16@ x 50] A307 ! 5/8"0 x 2" [160 x 50] GUARDRAIL 9 ? W8 x 10 [W200 x 15
ST UT WAASLERS (v Pa BOLTS & NUTS @ POST 14 ONLY 7 | BACK UP PLATES o BLOCKOUT ]7\;\
I - _“cexszfctsoxt2] | | My, Iy :qi
sose ool ] L me e AL R— AN N et
\F;&/)ﬁa T% \i/ }@H E R1 S5] LONG @ POST 10) /f/ NO BLOCK @ POST 10 TRAFFIC RAICRAP (STANDARD) W-BEAM RAIL ELEMENT RAIL LAP (STANDARD) qbi— ~ sv /Téﬂgvé’%@%ﬂ
, .
¢ C-ATPOST 6 . END ANCHORAGE PAY LIMIT , GUARDRAIL PAY LIMIT , W6 % (152 % 13— | N 5/8"0 x 2 [160 x 50] A307
¢ POST C-A-T 31-3718525) " ' BOLT & NUT W/WASHER
SINGLE SLOPE BARRIER € | 12'-6" [3810] TAIL END MEDIAN GUARDRAIL GUARDRAIL POST |
Ci -—— = V= T~~~ TS
- Ql__ 3" [75] B 6'-3" [1905] L 6'-3" [1905] o |
W8 x 10 [W200 x 18] —sbll<—1/2"" [13] OFFSET TO ¢ OF A RECTANGULAR POST (8) 5/8"@ x 1 1/4” [16@ x 32] GUARDRAIL V
BLOCKOUTS | Il SAFETY SHAPE BARRER ‘ ™ ./ BOLTWASHER (TYP) = */_ SPLICEBOLTS i“LNUTS (TYP) !
T POST 11 & 13 23" i 1 I ) POST7 &8
/ | [690] \
. 5/8" x 5" [160 x 125] .
A ! CARRIAGE BOLT @ POST 13 ‘ L A DACKP PLATE T
5/8"Q x 2" [16Q x 50] A307 q (2 1/2" [65] LONG @ POST 11) P P
BOLT & NUT W/WASHERS (TYP.) | W/NUT & WASHER - S TRANSITION TO
- | T_ RUB RAIL (10 GAGE [3.4 THICK] ) MEDIAN GUARDRAIL
% @ | H H
»L—33/8"[85] @ POST 13 i POST
J/j,/ 11/8” [30] @ POST 11 POST 6 POST7 osT8
Y Designed by: WBW STANDARD PLAN NUMBER
Danty__GLD YOMING DEPARTMENT
i INSTALLATION DETAILS END ANCHORAGE TYPE F (CONTINUED) @AV YOMING OF CORRUGATED BEAM GUARDRAIL 606-1
606-01C 7B TRANSPORTATION SHEET 13 of 16
. . . . . - . Iz A Issue ENGINEERING SERVICES
L Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. k STANDARD PI.AN A = NOVEMBER 2004 ___J




( 20" [610] BENT PLATE )
- WELD END PLATE TO BRACKET 1-4” x1-2 3/8" x 3/16"
3" [75] 169 \_,_,_ﬁ / [405 x 365 x 4.8]
- 1 1/2" [38] [230] 1150] 1230] . . === 476
2" END PLATE
31167 5] e / g@OTX (ZF\(E>1 )9 v || ‘1’-6” [50] o =
il N Paamra SR e N
T (N T 7/8" [22]0 HOLES — —5[230] y 4 L N e & & &
- 512" \ 11 /4 [6] THICK PLATE 1o : : 13716 12110 \— 3/16" [5] BENT PLATE ~ 3/4" [19]0
[140] TYP. ! HOLES
3165 A . ' ' (2)- HEAVY HEX NUTS CABLE ASSEMBLY
ol SOIL PLATE . {1} o {B“ & HARDENED WASHER
, 14" 4 L (TYP) SIDE VIEW
17[25] 1 - |*6 (150 [405] [100] L
CR CHANNEL g ATTACH SOIL PLATE L 51/4 X 3116 x 1-4” [135 x 5 x 406]
6" x 3" x 10 GA. - o T TN TO FOUNDATION TUBE | B q} L $ SENT PLATE
[150x 75 x 35 THICK] | | 57" 6-3 WITH (@) 5870 X7 112 L EITHER FULL PENETRATION
- [1708] [1905] 405 = 718" [22)0 s Ao T DTS 4 L WELD OR BEND TO FIT
! L HOLES 100
j——;-'-ﬁf N PERBOLT. [ ]‘ L 4]
L ! e o \ . 11/2" [38] 75, —11/16" [17]0 HOLES
i R 2 34 a {1} L {E’ i Y FOR (858D 1 112"
50" E 0] [50]y L “BIT ) [160 x 38] A307 BOLT
51/2" [1525] TS8 x 6 x 3/16 e E— D PLATE /1,l;= WITH FLAT WASHER
! TS203 x 152 x 4.8 , UNDER NUT & UNDER
‘ [}40] u u / [ x 152 x4.8] 1.3/8" [35] = |<— 112" [38]—>j /9,57 BOLT
81/8” —V— 44 = ! ol 3 B O 23" GUARDRAIL
316" [5] - 78] (38] _6 [70]
[205] ] 1 1/27 [38] Y END VIEW
=g (78] Y L - 38" [10) 11/8” [28)0
Yy b HOLES ; NOTE: THE DEPARTMENT WILL ALLOW
ELEVATION VIEW SIDE VIEW T 1 3/4” 316" | A ONE PIECE ASSEMBLY IN LIEU OF A
PSR > / WELDED MEMBER.
FOUNDATION TUBE GROUND STRUT STANDARD FOUNDATION TUBE (INCL. SOIL PLATE) END PLATE BRACKET
- | ANCHOR PLATE |
GENERAL NOTE 4 100]
38" [10
Proprietary End Anchorages may require different components = T Q 1 1/2 ’H* 0ol
than shown here. 3491910 U-BOLT )
718 22] CHER —_:Il 2"150] —- Qg T
- 23/8” [60]
- 66" [1985] _ N 3 ‘L\—1 1/16” (2910 HOLE
B 54" [1625] N ] BCT POST SLEEVE 2om5 2 oie” e s 3/8 [10] STEEL PLATE
234" [70] 176" 516" (810~ | 16| ‘ [65] , A [PLATE WASHER|
7" [180] 5" [125] TYP. BOTH ENDS 234" | |l [36] HOLE R-7/8" 22 1RO ==
38 [0 MIN . 1 I : RE/ 7 1 i (USED WITH SLOTTED
e ‘ 3/4” [191@ CABLE TO BE — ) 2" 1 3 BEARING PLATE)
TYP. i /SWAGE CONNECTED (I U 50 5 [75] ) [
— [ — [ — - — -2 \_ ——- = =] 50 ok [ d},\ ST
) — — 311
sl 156 U2 \% e o34 (1910 (619 GALVANZED CABLE 1916 40] | o | | S | HOLE
STANDARD SWAGED FITTING AND STUD - ) WELD
(STUD THREADED ENTIRE LENGTH) 11/47132] == = - 11747 [32] SPACER
[3/4” [19] CABLE ANCHOR ASSEMBLY | [U-BOLT CABLE CLIP] R
(SUPPLIED WITH (4) HEAVY HEX NUTS SLOTTED BEARING PLATE
& (2) HARDENED WASHERS

Y Designed by: WBW ¢ STANDARD PLAN NUMBER

Drawn by: GLD

606-1

FABRICATION DETAILS - STANDARD CABLE ANCHORAGE DETAILS

Checked by: WBW

CORRUGATED BEAM GUARDRAIL

Previous Dwg. No.

606-01C

SHEET 14 of 16

T WYOMING DEPARTMENT
% OF

Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. fovedby ENGINEERING SERVICES

L TRANSPORTATION

\_ STANDARD PLL AN

_J\Dete Issued. NOVEMBER, 2004 J




N
- ' [760]
5 3/4 3" [75] S 4o
! *‘ 1 45 3" [75] / 12 GAGE [2.7 THICK] "?5»‘ " 10 GAGE [3.5 THICK]
338" [85] | ] : /
! , 3 3/8 85 [ e .
EIGHT 29/32” x 1 1/8" 12 GAGE g1 71 | 61/4" [160] R 1 25 1/2° OPTIONAL BEND
[2.7 THICK] I (FOR CONNECTION
[23 x 28] SLOTS. MATCH 2" [50] 215]  [190] TO BUFFER END
8 OUTER RAIL SPLICE D=21" OR 24" { — SECTION)
(535 OR 610] T D 34" x 2 1/2" [19 x 65] POST BOLT SLOT
2" 50— I EIGHT 29/32" x 1 1/8” [23 x 28] SLOTS.
EIGHT 29/32" x 1 1/8”
‘ ‘5 e S oB1 BLO%S, MATCH I\/IATCH 8 OUTER RAIL SPLICE SLOTS.
145 8 OUTER RAIL SPLICE )
A SLOTS. 5| 1258 65]
I D I
121/ 7 ée 7 @ / ® 3127 [30]
; = % 31/2" [90]
53]

_f” 12%% | / 16" [408] + [3;0] ?115/21—{ — S P
Al b QUL ala bl =

|W - BEAM TERMINAL CONNECTOR |

IROUNDED END SECTION|

IBUFFER END SECTION|
11/8”
Q}jz%z”
314" 29/64” [12] R 23]
[83] y | TYPICAL SPLICE BOLT SLOT|
- 13' -6 1/2” [4130] (WITH 2 POST SPACES AS SHOWN HERE) o —1/16" 2]
- 53" [1905] OR 26'- 112" [7940] (WITH 4 POST SPACES) ol ok _ R /\O
, ¢ ) ]
§4 114" [108] 314" x 2 1/2" [19 xgB4] 414" “08]7 214 08 1OIR ’
2" [50] —ml4+-24 = GUARDRAIL BOETSLOT (TYP) L\ e 07 [50] 7 A3 1
— —— 15/16" [24] [83] , .
AT 7 =11 2w RADI + _ 758" 12 14
61/8”]; 1T  —— 1310] A31376 (1941 [310] )
oSl Bt - - ——— NEUTRAL AXES LOCATES y ¥ s
¢ 29/32" x 1 1/8" [23 x 28] ¢ CENTERS OF SPLICE SLOTS. {_*+ —“25/16 ,
& SPLICE BOLT SLOT(TYP.) bOST 39 ‘ - 3/4" [19]
ELEVATION VIEW J L 3/8” [10]R
11716 [27] | TYPICAL POST BOLT SLOT|
SECTION VIEW
|STANDARD W-BEAM RAIL ELEMENT |
12 GAGE [2.7 THICK]
ﬁeswgnedby WBW STANDARD PLAN NUMBER
o FABRICATION DETAIL - STANDARD RAIL AND END SECTIONS T YOMING [O)]EPARTMENT CORRUGATED BEAM GUARDRAIL 606-1
6ss(v)\t)és-llélglNé SHEET 15 Of 16
. . . . e . ' L) Issued by: ENGINEERING SERVICES

\ Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. TRANSPORTATION STANDARD PLAN  Kiow i NOVEBER 2002




( OPTIONAL CLIPPED h
. (£ 3/8” [10] FOR ROUGH CORNERS 11/16” x 1" [17 x 25] SLOTTED HOLE
SAWN TIMBER) ) 58" 16 , —
[180]“ |<_[1% ; - 25— 7/32" [6] = = /8" [ _] 1[%]1 j\ |
] r8oly L o x701SLOT ) RS L6 (17)
N g g —| o 212" (640 1| VARY BOLT LENGTH BASED ON USAGE: 16" 5] ] = 7’ 122) X K e7H
21" HOLE [460] / HOLE _\ 3-61/2" | FORL < 4 [100] BOLTS SHALL BE FULLY THREADED 15/16” [33] [25] " (2]
535] [1080] [ FORL > 4" [100] MIN. BOLT THREAD LENGTH SHALL BE 4” [100] 1 7/1%3[36] ~—3"[7g
J[ JT LYY \ 13 PROVIDE BOLTS TO CONFORM TO ASTM A307.
S 21 T8 20 e 5/8” [16]@ GUARDRAIL BOLT RECTANGULAR POST BOLT WASHER|
- 515" (9010 (BUTTON HEAD BOLT)
[1830] [180] > HOL[ES] (FOR SPLICE & POST BOLTS) (USE ONLY WHERE SPECIFIED)
: iy - S s -
; 51/2" , , . , 200
(190] [140] = =57/8"[149] 34" [19] = tol=c1 114 82). [200] (+ 98" [10] FOR ( e 1 [25] = %APZ%EZDF%%ST
(+0,-5/16" [-8) (+0,-1/4" [-6) N | ROUGH SAWN I 7 TRANSITION POST
T 2l y1230] %y [ TIMBER) [180]
T N seEsnoTE g 1B it JLiEHG 91"
SIDE VIEW ELEVATION VIEW ™ I N A 1235) 34" (191
‘ s N—— 3/4” [19)0 HOLES 3/4" [19]0 HOLES 7 HOLES @ :
@ 2" [50] C.C. SPACING @ 2" [50] C.C. SPACING [180] 2" 50] C.C. \
7 SPACING
[CRT TIMBER POST | |BCT TIMBER POST| WBx9x6-0"~~ [180] & !
| S48 ONLY 152X 19 x1830] §-0° 6'-0" 6-0" ADDITIONAL HOLE ]
* IdgETEo son [1830] [1830] [1830] AND NOTCHING FOR :
TRANSITION POST
ALTERNATE REAR WITH RUB RAIL
FLANGE FOR
MEDIAN BARRIER.
ROUND CORNERS
NOTE: ENSURE POST
R N/4 6]+ 1/8” QIR ) DIAMETER'S NOT LESS
‘>‘ "'9/16 [14] GUARDRAIL THAN 3/8" [10] UNDER
116" [17] / BOLT NOMINAL DIAMETER.
5 ) ' S 1 Y Y \
" @)
[125 / | WIDE-FLANGE GUARDRAIL POST | | TIMBER GUARDRAIL POST [ROUND TIMBER GUARDRAIL POST]
E MOUNTING (+ 3/8” [10] FOR ROUGH (+ 3/8" [10] FOR ROUGH
: : POSITION SAWN TIMBER) g SAWN TIMBER) 8" [200]
| Faa i‘_/\.‘ (200] 3/16" [8]
200 = 6" [150] : ) —] "
1 1/29191 NOTES: [ ]. h=— 6" [150] I 7 : 8" [200] 1F F: 64M [32]0 SFFSET 58"
314" 215" ~ e INSTALL REFLECTOR TABS AT 4 PQST 7 |~ 34" 1910 [180] POST ¢ — [16]
831 [64] DvEw INTERVALS. 147 | [180] : HOLE i e N [0 6 NN 4 1/47
= & =t
S ON END ANCHORAGES, & oo | o |41 34" 1910 50l "FE 0T [150) T 1108
. | ! \ [720] | 1362] HO[LE] N *_ =4
ROUTED FOR STEEL |
POSTS ONLY Ir FOR WOOD POSTS ROUTED FOR STEEL POSTS
|W-BEAM TIMBER BLOCKOUT| ! N [TOP VIEW OF BLOCKOUT
SEFLECTOR TAB ROUTED FOR STEEL
| | NOTE: POSTS ONLY
MANUFACTURE REFLECTOR TABS FROM 12 TO 14 GAGE SOME BLOCKOUTS VARY FOR END ANCHORAGE
[2.8 TO 2.0 THICK] STEEL. USE TYPE I OR TYPE Il REFLECTIVE TYPE F. REFER TO THOSE DETAIL SHEETS FOR W-BEAM TIMBER BLOCKOUT
SHEETING. SPECIFIC DIMENSIONS AND HOLE CONFIGURATIONS. FOR TRANSITION W/RUBRAIL
W Designed by. WBW STANDARD PLAN NUMBER
e FABRICATION DETAILS - STANDARD POST WYOMING DEPARTMENT 606-1
T AND MISCELLANEOUS HARDWARE DETAILS OF CORRUGATED BEAM GUARDRAIL SHEET 16 of 16
L Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. L TRANSPORTATION STANDARD PLAN )&E::;::Zd iﬁ,‘ig;ﬁi[:ij,i“‘“i






